INSTALLATION INSTRUCTIONS — MSL SERIES 1 MOBILE TROLLEY

The MSL Series 1 Mobile Trolley is designed and manufactured with a view to assist installation. The light is
supplied as a number of pre-assembled components. When installing please follow the instructions in the detailed
sequence. (1-5)

1. Fit Wheels to Base. (B)
Note: The two braked wheels are to be mounted opposing each other for increased stability.

2. Assemble Post to Base. (A & B)
¢ Remove M6 x 30mm bolt, washer and retaining disc from post. (A)
e Fit post (A) into base. (B)
e Secure bolt and washer using a 10mm spanner.
3. Install Light Head. (D)
e Remove 1 x M4 screw and washer from light head arm insert.
e Plug in low voltage cables using Molex connectors and slide back into lower arm. (C) Align screw holes
in lower arm (C) and install screw and washer using 2.5mm Hex key.
Note: Screw must be securely tightened.

4. Install Counterweight. (E)
¢ Remove 1 x M5 screw, slide counterweight (E) into pivot block (F) and secure using a 3mm Hex key.

5. Power up unit to test.

Counterweight (E)
Pivot Block (F)

Ok A =0

Arm (C)

Light Head (D)

Push into Base (B)
/

Standard wheel ~~__ Post (A)

0
M12 washer —
= Optional large wheel Base (B)
M12 washer
M12 x 30 bolt =\ Retaining Disc
X } M6 Washer

Wheel assembly detail M6 x 30 Bolt

Medical & Surgical Lighting Pty Ltd
www.mslighting.com.au Designed and Manufactured in Australia.

NS]_




